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QUESTION 1

What is the correct order of dependencies in the DataPower Gateway services point of view as they are nested into
each other? 

Select and Place: 

Correct Answer:  
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QUESTION 2

What is the recommended minimum number of machines required for the smallest OpenShift v4 cluster? 

A. 1 temporary bootstrap machine, 3 control plane machines, and at least 2 worker/compute machines 

B. 1 temporary bootstrap machine, 1 control plane machine, and at least 2 worker/compute machines 

C. 1 control plane machine and at least 3 worker/compute machines 

D. 1 temporary bootstrap machine and 1 control plane machine 

Correct Answer: B 

 

QUESTION 3

The API Integration pattern is used to enable which use case? 

A. Synchronous point-to-point access to services in closed heritage systems or heterogeneous backends 

B. Synchronous access to fine-grained services across various backends 

C. Asynchronous many-to-many coordination of services across multicloud and on-premises contexts 

D. Asynchronous point-to-point access to services in closed heritage systems or heterogeneous backends 

Correct Answer: D 

 

QUESTION 4

Which would be a valid architectural decision when using the Cloud Pak for Integration for a multi-cloud design goal? 

A. Deploy the Cloud Pak for Integration on IBM Cloud and Cloud Foundry 

B. Deploy the Cloud Pak for Integration on IBM Cloud and Amazon Web Services 

C. Place the Cloud Pak for Integration proxy nodes in separate subnets 

D. Place the Cloud Pak for Integration master nodes in separate subnets 

Correct Answer: A 

 

QUESTION 5

A decentralized ownership approach in modern agile integration methodology leads to which benefit? 

A. Accelerated development agility 

B. Operational agility with dynamic scalability and inherent resilience 

C. Installation agility that enables auto deployment 
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D. Business agility with a guaranteed improved time to market 

Correct Answer: B 
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